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Fik ERE %gg)ﬁﬁgﬁ(?ii 2013/09/12 5,000
B BR %g;)ﬁ%ﬁ(iii 2013/09/12 10,000
RE E® %g;)ﬁﬁgﬁ(?ii 2013/09/12 5,000
ic] = ég;?gf(iﬁi 2013/09/12 10,000
KT KR fég;?gé(iﬁi 2013/09/12 20,000
25 B ég;?gé(iii 2013/09/12 10,000
BA &% ég;?gé(iﬁi 2013/09/13 100,000
tFE W& ég;?gf(i&i 2013/09/13 10,000
ZEB FE %g;?gﬁ(iﬁi 2013/09/13 10,000
% &k égg?gﬁ(iii 2013/09/13 10,000
AR EAL %g;)ﬁgﬁ@ii 2013/09/13 30,000
Hif ®E égg?gﬁ(iii 2013/09/13 10,000
HAX FH %g;?gﬁ(iﬁi 2013/09/13 5,000
Bt RSB ég;?ge(iii 2013/09/13 5,000
B X %g;?gﬁ(iﬁi 2013/09/14 10,000
RHF W %gfé%ﬁ(_ﬁga 2013/09/17 500
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Ax &E ggﬁi)&% (=8B | 5013/00/17 500
T# A= %?fé%ﬁ (=8B | 5013/00/17 500
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& F9Y %?fé%ﬁ(_ﬂgﬁ 2013/09/17 500
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s IE# %g;?gﬁ(iﬁi 2013/09/20 10,000
ik EH ég;?gé@ii 2013/09/20 10,000
wH #aE %g;?gﬁ(iﬁi 2013/09/20 10,000
A ES ég;?gé(iii 2013/09/20 10,000
TR EA %g;?gﬁ(iﬁi 2013/09/24 100,000
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[T IIPS %g;?gﬁ(iﬁi 2013/09/24 10,000
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EE%)




EL A FitEH RALES ZAFAR| FHEEE
% St %g;)ﬁﬁgﬁ(?ii 2013/09/25 10,000
WA [BIE %g;)ﬁ%ﬁ(iii 2013/09/25 5,000
FHH Eak %g;)ﬁﬁgﬁ(?ii 2013/09/25 5,000
AIE #Z ég;?gf(iii 2013/09/25 5,000
B % ég;?gé(iﬁi 2013/09/25 10,000
miE B ég;?gé(iii 2013/09/26 10,000
R BE ég;?gé(iﬁi 2013/09/26 5,000
AR & fﬁ%gg%ol;v 2013/09/26 10,000
EREAHE CEe E%ﬁiﬁ%%?l 2013/09/27| 1,000,000
BmFt BX ég;?gé@ii 2013/09/27 10,000
hE & %g;?gﬁ(iﬁi 2013/09/27 10,000
¥t ¥F ég;?gé@ii 2013/09/27 5,000
RE &7 %g;?gﬁ(iﬁi 2013/09/30 10,000
W OEE ég;?ge(iii 2013/09/30 10,000
AR =V %g;)ﬁgﬁ@ii 2013/09/30 5,000
T BrE ég;?ge(iii 2013/09/30 10,000
B BT fﬁgggg')(k:" 2013/09/30 10,000

Z DAth( 1159 #) 3,677,000
BA75 - HATEZE (187)
B 2209 #) 10,414,908




